MIA M I-DADE MIAMI-DADE COUNTY, FLORIDA
- METRO-DADE FLAGLER BUILDING

BUILDING CODE COMPLIANCE OFFICE
METRO-DADE FLAGLER BUILDING

140 WEST FLAGLER STREET, SUITE 1603
MIAMI, FLORIDA 33130-1563

PRODUCT CONTROL NOTICE OF ACCEPTANCE (305) 375-2901 FAX (305) 375-2908
Therma-Tru Corporation CONTRACTOR LICENSING SECTION
1687 Woodlands Drive (305) 375-2527 FAX (305) 375-2558
Maumee ,OH 43537 CONTRACTOR ENFORCEMENT DIVISION

(305) 375-2966 FAX (305) 375-2908
PRODUCT CONTROL DIVISION
(305) 375-2902 FAX (305) 372-6339
Your application for Notice of Acceptance (NOA) of:
"Fiber-Classic" Out-Swing Opaque Fiberglass Door
under Chapter 8 of the Code of Miami-Dade County governing the use of Alternate Materials and Types of
Construction, and completely described herein, has been recommended for acceptance by the Miami-Dade
County Building Code Compliance Office (BCCO) under the conditions specified herein.

This NOA shall not be valid after the expiration date stated below. BCCO reserves the right to secure this
product or material at any time from a jobsite or manufacturer's plant for quality control testing. If this
product or material fails to perform in the approved manner, BCCO may revoke, modify, or suspend the
use of such product or material immediately. BCCO reserves the right to revoke this approval, if it is
determined by BCCO that this product or material fails to meet the requirements of the South Florida
Building Code.

The expense of such testing will be incurred by the manufacturer. %/ %

ACCEPTANCE NO.: 01-1004.03
EXPIRES: 11/09/2006 Raul Rodriguez
Chief Product Control Division

THIS IS THE COVERSHEET, SEE ADDITIONAL PAGES FOR SPECIFIC AND GENERAL
CONDITIONS
BUILDING CODE & PRODUCT REVIEW COMMITTEE

This application for Product Approval has been reviewed by the BCCO and approved by the Building
Code and Product Review Committee to be used in Miami-Dade County, Florida under the conditions set

forth above.
Francisco J. Quintana, R.A.
Director
Miami-Dade County
APPROVED:_11/29/2001 Building Code Compliance Office

5045000 I\pc2000\\templates\notice acceptance cover page.dot

Internet mail address: postmaster@buildingcodeonline.com @ Homepage: http://www.buildingcodeonline.com



Therma-Tru Corporation ACCEPTANCE No.: 01-1004.03

APPROVED: November 29, 2001

EXPIRES: November 9, 2006

NOTICE OF ACCEPTANCE:;: SPECIFIC CONDITIONS ’

SCOPE

This renews Notice of Acceptance (NOA) No. 00-0613.02, which was issued on November 9, 2000. It
renews the approval of a fiberglass outswing door, as described in Section 2 of this NOA, designed to
comply with the South Florida Building Code (SFBC), 1994 Edition for Miami-Dade County, for the
locations where the pressure requirements, as determined by SFBC Chapter 23, do not exceed the Design
Pressure Rating values indicated in the approved drawings.

PRODUCT DESCRIPTION

The Series “Fiberclassic” OQutswing Residential Insulated Opaque (embossed) Fiberglass Door- Large
Missile Impact Resistant & with Sidelites Non-Impact Resistant and its components shall be constructed
in strict compliance with the following document: Drawing No S-2030, Sheets ] through 7 of 7, titled
“Therma-Tru Fiberglass-Outswing,” prepared by RW Building Consultants, Inc., dated 9/20/00 and revised
on 10/17/00, signed sealed by Humayoun Farooq, P.E., bearing the Miami-Dade County Product Control
renewal stamp with the NOA number and expiration date by the Miami-Dade County Product Control
Division. This document shall hereinafter be referred to as the approved drawings.

LIMITATIONS

This approval applies to single unit applications of a double door or single door with or without sidelites, as
shown in approved drawings. Single door units shall include all components described in the active leaf of
this approval.

INSTALLATION

‘The Outswing Residential Insulated Fiberglass door and its components shall be installed in strict

compliance with the approved drawings.

Hurricane protection system (shutters):

Sidelites: Installation of this unit will require a Hurricane protection system.
Doors : Installation of this unit will not require a Hurricane protection system.

LABELING
Each unit shall bear a permanent label with the manufacturer's name or logo, city, state and following
statement: "Miami-Dade County Product Control Approved".

BUILDING PERMIT REQUIREMENTS

Application for building permit shall be accompanied by copies of the following:

6.1.1 This Notice of Acceptance

6.1.2  Duplicate copies of the approved drawings, as identified in Section 2 of this Notice of Acceptance,
clearly marked to show the components selected for the proposed installation.

6.1.3  Any other documents required by the Building Official or the South Florida Building Code (SFBC)
in order to properly evaluate the installation of this system.

=" Raul Rodriguez, Chief d
Product Control Divisibh



Therma-Tru Corporation ACCEPTANCE No.: 01-1004.03

APPROVED: November 29, 2001

EXPIRES: November 9, 2006

NOTICE OF ACCEPTANCE: STANDARD CONDITIONS

- Renewal of this Acceptance (approval) shall be considered after a renewal application has been filed
and the original submitted documentation, including test supporting data, engineering documents, are
no older than eight (8) years.

- Any and all approved products shall be permanently labeled with the manufacturer's name, city, state,
and the following statement: "Miami-Dade County Product Control Approved", or as specifically
stated in the specific conditions of this Acceptance.

. Renewals of Acceptance will not be considered if:

a) There has been a change in the South Florida Building Code affecting the evaluation of this
product and the product is not in compliance with the code changes;

b) The product is no longer the same product (identical) as the one originally approved;

¢) If the Acceptance holder has not complied with all the requirements of this acceptance, including
the correct installation of the product;

d) The engineer who originally prepared, signed and sealed the required documentation initially
submitted is no longer practicing the engineering profession.

. Any revision or change in the materials, use, and/or manufacture of the product or process shall
automatically be cause for termination of this Acceptance, unless prior written approval has been
requested (through the filing of a revision application with appropriate fee) and granted by this office.

. Any of the following shall also be grounds for removal of this Acceptance:

a) Unsatisfactory performance of this product or process.

b) Misuse of this Acceptance as an endorsement of any product, for sales, advertising or any other
purpose.

. The Notice of Acceptance number preceded by the words Miami-Dade County, Florida, and followed
by the expiration date may be displayed in advertising literature. If any portion of the Notice of
Acceptance is displayed, then it shall be done in its entirety.

. A copy of this Acceptance as well as approved drawings and other documents, where it applies, shall
be provided to the user by the manufacturer or its distributors and shall be available for inspection at
the job site at all time. The engineer need not reseal the copies.

. Failure to comply with any section of this Acceptance shall be cause for termination and removal of
Acceptance.

. This Notice of Acceptance consists of pages 1, 2 and this last page 3.

END OF THIS ACCEPTANCE / -

7" Raul Rodriguez, Chief
Product Control Division



THERMA-TRU

THE "FIBER CLASIC®, "SMOOTH STAR" & "CLASIC CRAFT”
OUTSWING INSULATED FIBERGLASS DOCR

N
GENERAL NOTES

1. THIS PRODUCT IS DESIGNED TO MEET THE SOUTH FLORIDA
BUILDING CODE 1994 EDITION FOR MIAMI—DADE COUNTY.

2. WOOD BUCKS BY OTHERS, MUST BE ANCHORED PROPERLY
TO TRANSFER LOADS TO THE STRUCTURE.

3. PRODUCT ANCHORS SHALL BE AS LISTED AND SPACED AS
SHOWN ON DETAILS. ANCHOR EMBEDMENT TO BASE
MATERIAL SHALL BE BEYOND WALL DRESSING OR STUCCO.

MIAMI—DADE APPROVED IMPACT RESISTANT SHUTTERS
ARE REQUIRED FOR SIDELITES.

DESIGNED PRESSURE RATING SEE TABLE SHEET 1.

SIDELITES ARE AN OPTION AND CAN BE IN A
SINGLE OR DOUBLE DOOR CONFIGURATION.

he

)

\

N e

ESIDENTIAL INSULATED FIBERGLASS DOOR
Common to all frame conditions

Face sheets: Fiberglass 0.090" minimum thickness,
with yield strength Fy(min.)= 5,000 psi

Core design: Polyurethane foam core,
with2.1 Ibs. density b%/ BASF.
tipn; The head and side jambs are
finger jointed ponderosa pine measuring 4,5625"
x 1.25% mbs are mortised,
butted and joined using 3) #10 X 2.5" PFH wood screws
ot the top corners and (2) 16ga. 0.5 crown x 2.0" long
staples o{) the threshold ends.

Panel (IL}DSSCIJ:HQD' Flush or embossed tyf)e. The vertical
edges of the foce sheet ore flush ond giued to the
fingar jointed pine stiles ond rails.

Wood énd rails are butt jointed to styles
ot corners. Panels ore sandwich %Iozed using o two
]

The head ond sid; j

EFiccc urethone lite frome with mitered & welded caorners.
he glass is dry glozed on the exterior with o cellulor topeJ

N\

TABLE OF CONTENTS

SHEET # DESCRIPTION

COMMON (GENERAL NOTES, TYPICAL ELEVATIONS)

VERTICAL CROSS SECTIONS & BILL OF MATERIALS

HOIZONTAL CROSS SECTIONS

HOIZONTAL CROSS SECTIONS & DOOR MODELS

ANCHORING LOCATIONS

ANCHORING LOCATIONS & GLAZING DETAILS

NITH O [ N[N —

FRAME COMPONENTS

DESIGN PRESSURE RATING

WHERE WATER INFILTRATION
REQUIREMENT IS NEEDED

+ 49.0 PSF -~ 60.0 PSF
+ 48.0 PSF -~ 66.0 PSF

UNIT TYPE

SINGLE
DOUBLE

SINGLE OR DOUBLE
WITH SIDEUTES

+ 48.0 PSF -~ 66.0 PSF

149.625"

MAX. OVERALL WIDTH
4

37.57 MAX.

OVERALL WIDTH

q

e

d—

&

-

ﬁ

96.57 MAX. OVERALL HEIGHT

o

S

OXXO
DOUBLE DOOR_W/SIDELITES

ELEVATION

74.625" MAX.

p OVERALL WIDTH

r——' 112.57 MAX. OVERALL WIDTH ——-——'1
q q

-

S
96.5" MAX. OVERALL HEIGHT

[d

@

i

&

S

(ATION

&

XX

ALL_DOOR MODELS ARE VIEWED
EROM THE INTERIOR SIDE

(OUTSWING DOORS)

NOTE: SURFACE BOLTS ARE ON THE
ACTIVE DCOOR PANELS ONLY

P
AC
EXPIRATION DATE

@ 02 (0] @

SINGLE DOOR W/SIDELITES ELEVATION

THERMAD TRU®
108 MUTZFELD Rd.

IN 46721

PH. (219) 868-5811

BUTLER,

THREMA TRU FIBERGLASS
OUTSWING UP TO 12-0 x

PRODUCT:

8—0 W/3—0 SIDELITES

ELEVATIONS AND
GERERAL NOTES

GENERAL REVISION | TUH | PART OR ASSEMBLY:

GENERAL REVISION | TJH

REVISIONS

10/17/00
DATE

9,/25/00

o
z

2
1

Ry

CONSULTANTS, INC
B813.684.3831

BUILDING

ODUCT RENEWED
100M .03

W ¥

:EPTANCEN0.0\"

0b

P

PRODUCT CONTROL DIVISION
BYILDING CODE COMPLIANCE OFFICE

SOUTH FLOSIDA EE:

oare 2laxn

AFPROVED AS COMPINHG WTH

ILDING CODE
09 2000

6Y_lSlaq |- Clgudg

oate: 9 /20/00

FSCALE:

N.T.S.

DWG. BY:

TJH

CHK. BY:

Rw

ROCUCT CONTROL DVISION

UILCING COOE COMPLIANCE OFMCE
ACCEPTANCE NO.CO-06135.02-

e

RAWING NO.:

S-—-

2030

HEET

1

o _7




T 4
, ; ,"'A' e ',
- . o .fv . d‘ . A‘-d-~'_.4. .
R — O
g = i %
I S
3 » 7k
x . Z x
v 0 3 < .
mo N, 0
K 20 o
— N7
= SKIN THK. DA
@ L0 o
WAt L]
1.75% MIN. __| *° 0_'_ <
PANEL THK. o0 Y =
3 WA g
: Sel B
Lo 0
3 3 0 . ~
" 7 g i_ o
© INTERIOR 25.°5%
0.0 |EXIERIOR
N
S5 ©
‘o G
N
I

4.625"
1\ VERTICAL CROSS—SECTION

2/

Item] DESCRIPTION Material
1 |80 DOOR SKIN .125" MIN. THK. FIBERGLASS BY THERMA-| FIBERGLASS
TRU with yield strength Fy(min.)=5,000 psi
2 |4 _1/2" HEADER (THERMA-TRU, PONDEROSA PINE) wooD -
T JV O 3 |4 _1/2° LATCH JAWB (THERMA=TRU, PONDEROSA PINE) | WQQD o — -
T S SR 4 |4 1/2° HINGE JAMB (THERMA-TRU, PONDEROSA PINE) wooD ® czQ 00)
R L T S 5 |4 1/2" BLANK JAWB (THERMA-TRU, PONDEROSA PINE) | WOOD 2 L0
NG SR B_|4" x 4~ HINGE .097" THK. (THERMA—TRU) STEEL ES~vp
: - — 7 |#10 x 3/4" Iq. (Hinge to Frame) STEEL o W ©
8 | #10 WOOD SCREW X 2 1/2° LG. STEEL S e
4 ) 9 |#10 x 2 1/2° LG. WOOD SCREW STEEL N
| S 10 |3/16~ TAPCON ANCHOR (ELCO, 1.75” MIN. LG.] STEEL T gei @
P—— 11 | ONE_PIECE BUMP FACE THRESHOLD (THERMA-TRU) [ALUM./WOOD T o
= ; 12 | COMPRESSION WEATHERSTRIP (THERMA—TRU) w5~
. A2 / 13 | PLASTIC UP_UTE FRAWE (WFG. BY THERWA-TRU) PVC Om_.
£ 3 13A | PLASTIC_LIP_UTE FRANE (NFG. BY THERHA-TRU) POLYPROP. =
2 g ,’ 14 _|#10 x 1 1/4" LG. TYPE A" FLATHEAD STEEL
iy G > : 15 |TOP & BOTTOM RAIL (1.757 x 1.6257) WOOD
" : y L \@ (THERMA—TRU, PONDEROSA PINE)
g : . : 16 |BLANK SIDE STILE (THERMA-TRU, PONDEROSA PINE)| WOOD -
: Zx NN 17 |#8 x 1/2" LG. TYPE "AB" PANHEAD STEEL 7 BN Y
2 2z °Q N SEE NOTE 2 18 |#10 WOOD SCREW X 2° LG. STEEL 98 &9
' | | SHT._3 19 |KWIKSET 200 DL PASSAGE eNZl BE
= © % (29 20 | KWIKSET 660 DEADBOLT N
= N | 21 |MASONRY WALL il EROES
Q NN 5 22 | 2x_WOOD BUCK WO00D ~a°(2 §
L N L [23 [MAX. /4 SHIM_MATERIAL WOO0D Eo48| Ol
w I i} Ny 24 | ASTRGAL (052" KALL THK. ALUK. & POMDERGSA PRE W/3/16° x 19” BOLT) WOOD/ALUM. (g; @ -51_,
3 . — 0 MAX. @ MFG. BY THERMA-TRU CIZEL || CF
é 0 | GLASS THK % [25 [GLAZING, 1/2" INSULATED TEMPERED GLASS GLASS AELT|C
o . ™ a 26 |3/4" THK. PRESSURE TREATED SIDELITE PAD wOoQoD S| 3|k @*’
g f\g /—@ = 27 [#12 x 1/2°LG. PANf?EAD SHEET );ETAL SCREW | STEEL o o
28 |BULB WEATHERSRIP_(THERMA—TRU VINYL
Lﬁ’ INIERIOR 2 G [25[#6-18 ] 3/4" PHILUPS FLATHEAD SCREW | STEEL EEE
S /__// EXTERIOR & [30 [#10 x 1" LG. PHILLIPS FLATHEAD SCREW STEEL
% / f;..:.....é’-. 1 [ 31 [LATCH s:og STILE (THERMA—TRU, PONDEROSA PINE) [ WOOD Zl3
5 G . .. > [ 32 |FINGE SIDE STILE (THERMA—=TRU, PONDEROSA PINE) | WOOD 1%
. = NG @ [ 33 [CORRUGATED STAPLE FASIENER (1 1/2° X 3/4)| STEEL ol
N 25 RN . 34 |4 x 1.625" CONTINUES LVL STILE LVL |
& Ilﬂﬁ @’\-Q- L 125 35 |POLYURETHANE FOAM (BASF, 2.1Ibs. DENSITY) FOAM éé 5
hZ SR SKIN THK. 36 |IVES SURFACE BOLT STEEL 0
—a ] o Yo .75 MIN. 37 |3/16" TAPCON_ANCHOR (ELCO, 3.25" MIN. LG.) STEEL éé e
O NN [ PANEL THK. 38 | 1/8 THK. CELLULAR GLAZING TAPE (STIK—II TAPE) = =
| . ] 39 [F10 x 27 LG. PHILLIPS FLATHEAD SCREW STEEL Qe
T 40 [#10 x 3" LG. WOOD SCREW STEEL NS
| [41_[SEALANT SILICONE NN
x NN
o \ O
~ NOTE: ~lo|
1. SIDELTE IS DIRECT SET INTO JAMB WITH ~|~Q
A #10 x 2" PH.F.H. WOOD SCREWS AT 6"
< AN FROM EACH END AND A MAX. OF 127
- "q_-.i'.\. < 0.C. ON VERTICAL LEG JAMBS ONLY. '%Wtwmomc
-.; - T e o 2. SIDELITE PAD IS SECURED TO THE SIDELITE  |||CONSULTANTS, INC
<« U o SILL W/CONSTRUCTION ADHESIVE. 813.684.3831
X ~
. * 7
L Sec NOTE 2 THIS SHEET z FRODUCT RENEWELY  eproven as cospine wvmg % 9/20/00
. 3 AQCEPTANCE No, 01-1004,03 SOUTH OR'D wipwgooz  [SAE1/2” - 1
0 L b Ao N DATE 09,2000 |owc. BY:  TJH
. » D 0e
( 2\ VERTICAL CROSS—SECTION —~ L o Lga e Lo oW
> Byl ( RODUCT CONTROL DIVISION DRAWING NO.:
D PRODUCT CONTROL D BUILDING COOE COMPLIANCE OFFIEE 5$-2030
BUILDING CODE COMPLIANCE OFFICE ~ ACCEPTANCE NO_OO-0412-010 = 7




Lo \\\?\\

1.75" MIN.

PANEL THK.

T

[~

Q-

r
°-
9

Q"“. . .
o 0 -

o

o
..“Q

Y

INTERIOR
INACTIVE
SEE

SHT. 3
3/16" x 9"L. BOLT

NOTE 3

DETAIL "A”
SURFACE BOLT VIEW

25" MAX __,
SHIM

INTERIOR

4X EACH BOLT

SEE NOTE 1
SHT. 3

— oo‘o

1

ACTIVE

/ 1"\ HORIZONTAL CROSS SECTION

NOTES:

1. SIDELITE IS DIRECT SET INTO JAMB WITH
#10 x 2" PH.F.H. WOOD SCREWS AT 6"
FROM EACH END AND A MAX. OF 127
0.C. ON VERTICAL LEG JAMBS ONLY.

2. SPACING OF SCREW ITEM #28 LITE FRAME

SCREWS IS AS FOLLOWS:
FROM THE BOTTOM UP ON
MORE AT 9.893" 0.C. TOP

SIDES, 6.438" & (7)
& BOTTOM, 3.219"

& BOTTOM, 3.219” FROM THE END IN & (3)

MORE AT 5.896" 0O.C.

3. SPACING OF SCREW ITEM #27 ASTRAGAL

SCREWS IS AS FOLLOWS:
BOTTOM UP AND THE TOP
1% 3%, 5% 7% 10" & 10"

DOWN SPACING IS

4. SURFACE BOLT IS ON ACTIVE DOOR PANELS ONLY.

SEE NOTE 2
SHT. 3

\3_/ DOOR TO ASTRAGAL
SEE DETAIL "A”" FOR SURFACE BOLT VIEW
/ AND NOTE 4 SHT. 3

(LOCKSETS NOT SHOWN FOR CLARITY)

oD

Lo L T el 6o

EXTERIOR

1.757 MIN.
PANEL THK.

THK.

.57 GLASS

Pl
3

1.337 MIN.

15" MIN.
COUNTERSINK

m HQRIZONTAL CRQOSS SECTION

SEE NOTE 2
SHT. 3

INTERIQR

3/ SIDELITE TO BUCK

1.757 MAX.

PANEL THK.

Coal e e e
./ 9
(18)

i
AN

SEE NOTE 1
SHT. 3

/ 2\ HORIZONTAL CRQSS SECTION

N

SIDELITE TO HINGE JAMB

1257
SKIN THK.

SPACED 8" FROM
BOTTOM & 127 O.C.

0T
& XX
2 Q0|
d.
Favs
§ }\ -
o J>oro;m
L EL:JIﬁ
E el
)
OCD R
Al T
Q.
mxm
O
48
evgl 2
% o) 0
DO <=
TR 56
| vy
a 9|2 Cn
:DlarlJ
=o3% B
#<Z;g18
UI§o% Q
35%1
o= 3|k
a o a
T|x|&
22
Z|Z
SIS
22
[sdd[e 4 wn
z
@)
5 S
(@]
SE
r\’\.ti"
N
O™
-
Nv—%

BUILDING
CONSULTANTS, INC

813.684.3831

ﬂ{ODUCT RENEWED #PPROVED AS CONPLYNG WIHTHE loate: 9/20,/00
" SQUTH FLORIDA BUILDING CODE scaLE: ] /2" = 1°
ADCEPTANCE No. 0 l- \ 00\4 02 DATE (2913 @2000 owe B’Y/ TIH
eXPRaTION DaENVinper{, 200b[ 87 lslhag [ Claxdls ow. o RW
- S - PRODUCT COHTROL DIVISION DM’MNG‘ e

/ | BUILDING CODE COMPLIANCE OFFICE S—-2030

RODUCT CONTROLDIVISIGN [ ACCEPTANCE HO ©o~0613 01
BUILDING CODE COMPLIANCE OFFICE| T T ket 3 oF 7.




EXTERIOR
25" MAX ., L (39 .
SHIM < z’é
e L =
n - 2 Ej
N
".E L=
% ~ &
y ( { {
\ f o} =
. 0. . &,
- O - e
S
N w0
L

SEE NOTE 4(36
SHT. 3

39

4X EACH BOLT

SURFACE BOLT VIEW

36.0" MAX.
PANEL WIDTH

RO

oI\

SEE NOTE 2

SEE DETAIL "H" FOR SURFACE BOLT VIEW

AND NOTE 4 SHT. 3

95.25" MAX.

o

PANEL HEIGHT
o
[ —  —
1 C—30

Q.

i
[ii

im (s

i

o & H

Ili

OO
OO

aa
OO

[
—

O O
== =3 ==
— = =

PAN

M

.125%
SKIN THK.

THERMAO TRU®
108 MUTZFELD Rd.

BUTLER, IN 46721
PH. (219) 868-5811

(9

THERMA TRU FIBERGLASS

OUTSWING UP TO 12-0 x
8—0 W/3—0 SIDELITES

PART OR_ASSEMBLY:

PRODUCT:

BY HORIZONTAL CROSS
SECTIONS & DOOR MODELS

TJH
JH

s e e oG LN
R me e e
P < g
S R R
1 . INTERIOR
X% (18)
<E
o SEE NOTE 1
n SHT. 3 /1
N2 U
- / 410" e
3\ HORIZONTAL CRO ON \—@
\4_/ SIDELITE TO LATCH JAMB
SPACED 8" FROM
BOTTOM & 12" O.C.
y 25" MAX.
Z¥ y SHIM
=~ Y E
r = UN) /_@
EXTERIOR — & ”n
B I T 4
N W5 fg‘.’.’f o
&, et 0i0r o °’£
INTERIOR

9

®

GENERAL REVISION
GENERAL REVISION
REVISIONS

10/17,/00
9,/25/00
DATE

o
z

2
1

5 a7/[/13unwmcs

CONSULTANTS, INC
B13.684.3831

AR "s% ] .
i / ] e
PO
15" MIN. _.]L N
C—SINK . SR
1.33" MIN.
EMB.
2™\ HORIZONTAL CRO ON
u HINGE JAMB TO BUCK
BR N APFROVED AS COMPLYING WITH THE
ODUCT RENEWED §OUTH FLORIDA BUILDING CODE
AQCEPTANCE No, 01 —100M , 04 OATE & 2000
BY_sbeq 1. Clayde
PRODUCT CONTROL DVISION

EXPIRATJON DATE.
By

2

%

PRODUCT CONTROL DIVISION—
BYILDING CODE COMPLIANCE OFFICE:

BUILDING COOE COMPUANCE OFFICE
ACCEPTANCE RO, OO-0 '3 - 0|

e 9,/20/00

SM_E-'1/2. = 1”

DWG. HY: TJH

CHK. BY: RW

DRAWING NO.:
S-2030

SHEET _4 oF _7




/—SEE DETAIL "C”

——

SEE NOTE #1, TYP. k

4 W)
A\ /e

] [
1 =

TO ALL HEADERS

H [ 6'. "] » [ 6 . —
© ?6_"}"—‘ ol ? -—.*_.-.-:‘—3 F 6.‘——} " ? e D.‘—v—
{ . 3 p3 i -3t }‘_4 ® xR
— )
Q|
. E % o,
T f 1 o> 8
) % TYP. TYP. TYP. TYP. © § N~
.(9 — B oo
T__’.__ T E g % o)}
. _ — z 2
o L 2N
5 og TYP. T 05~
i ‘0% L m
T - = A xI
:5 41 _ _ 5 o
= o o .
. S = 3
['p] — I
3 : —~ — 445 + oy B
T 1 .ow on
Y @ayrve. S SR p
o3t o o =
[ o] 8.9, =2
o § § | — — b5 9 sl 5 SE
. e @%?% 0d
0n =
. O— @ BT 2% &9
@ o1 $23] | 8%
=25
— TYP. — S 530 S 9
| | ™ | n HENEE
o O
SEE NOTE #2, TYP. ] |.._5- 3% _o] 3 __l l— 6"
{ >
TO ALL THRESHOLDS ., I | x|m
6" — ——— @ il
2 [(———"1
o = — { l ) —
» M Z
o | 6" — 6 X ] 53
T L @ A BE o
02% TYP. ATTACH ASTRAGAL THROW BOLT §§ n
< STRIKE PLATE TO FRAME 2 2
'—i AS SHOWN. @
o e ! ’:E S
> Q ) NOTES: APPLICABLE TO ALL FRAMES kgl"_-’
h © t % 1. HEAD JAMBS AND MULLION JAMBS ARE SECURED Qﬁg
AR _ _ _ WITH (3) #10 x 2 1/2" SCREWS. Sy
N g 2. THE THRESHOLDS ARE JOINED TO THE SIDE 3
INES JAMBS WITH (5) 16GA. .5" CROWN x 2" LG. ~ -2
Q@ . ' STAPLES EACH END.
- il; _ _ g '% BUILDING
‘/ " CONSULTANTS, INC
. 813.684.3831
O Q
o = : ) o
SEE - E— & — oaTe: 9/20,/00
DETAIL Jtt - —_ BRODUCT RENEWED)| #°PROVED AS COMPLYING WITH THE
“G* . SOUTH FLORIDA BUILDING CODE SAE:  N.T.S.
02% AQCEPTANCE No§ - 1 9O0M. 673 0ete 2 09, 2000 |wG. 8Y:  TJH
QO
@——‘ - EXPIRATION DAT r 4, Loog v L Clgyd chk. B RW
: —_ —_ PROOUCT CONTROL DMISION DRAWING NO.:
_‘_J_T TYP. By /fp LAl é BUILGING CODE COMPUIANCE OFFICE S-2030
= = RODUCT CONTROL DIVISION : - s o)
—~i =6 6= BJILDING CODE CoMPLIANCE, OFFicE | *CCE TANCENO.©2-06 5 0k Moy 5 or 7

SEE DETAIL™D"




SEE NOTE #1 SHT. SEE DETAIL "C" SHT. 5

.. S5 TYP. TO ALL
SEE DETAIL"D HEADERS SEE DETAIL™D"
) [ 1T 10 ] SHT. 5 [ Xy I SHT. 5 .
,(o% I 5"_..' o} D IR D e ) - . A/t i . O | @ Egaa
i T =T 1 o it B . S I e M 2ol
T T] ¥
. L —_ - | — - o M- ©
N E il f 2 2§
© % ‘ ol % © % TYP © g5y
il - i ] N
© P T o oa —m
R % % e Ly S 2= § ] i S - 8:_
0 — =
_ TP _ ot — _ b4
3| A g ) % :
e ~ oy = O— og
S 2 S P : TYP S ¢
- TYP = = b - 7
J E‘ _ . _L . . g i . _ E Rla: g‘o(n
/ ] _}_r E - EB o lr(.? T ] . T 0&5 g__.l
. X o 40) s e ST
SEE © —® —© A— e oF 9 —(©) TYP. o Dog|s) I8
DETAIL | | _ _ IS b 4w _ _ 1 S (PN E
| i 2] £
SHT. 5[] |, o oo o o9 X
s s BT Q¥ a | 3k £ 383, 95
@ @ _ e . MR
Oxaliimi TYP. TYP. TYP, T 1 T e [
_J- I l I l | e CM"- }-_ M o o a
. — 3 5 ] —3 [ Al ] .
S i L S b g T e
SEE NOTE #2 SHT. 5 S
TYP. TO ALL THRESHOLDS 453" ¢ a§
GLASS BITE ST x & |2
EXTERIOR S0 3 3 3
e \ O‘é’ .125" TEMPERED &l g
: no GLASS 96| |
s N -
453" e 8 o 0 §§\\\§\‘ } / 3
GLASS BITE s $ g =o M\I ———— 25" AR NEE
s <o ° NS \ 7 SPACE RE
o2 125" TEMPERED S = T ! EN
N 3 GLASS o o \l . o -2
& .125" TEMPERED z
| , ) SILICONE CAULK '~ GLASS .%
25" AR
——— -
S , J{’— SPACE | INTERIOR .SZPSACE;EEL INTERCEPT CONSI/IT/Ag;’s'L.D::g
1 SHT. 3 B13.684.3831
SILICONE CAULK Gﬁ%"s TEMPERED PRODUCT RENEWED| 4PPROVED 45 COPLYING WTHTHE0ATE: §/20,/00
o1- 1004 03 SOUTH FLORIDA BUILDING CODE scAE:  N.T.S.
25" STEEL INTERCEPT ACCEPTANCE Ne, ‘ ot Howosuber g7 2ovol T
SPACER exbiraTioN DATENogmur 4 06| ov \cliag |+ Chauds _d————
SEE NOTE 3 /Z/J/ PRODUCT CONTROL DIVISION Ty
SHT. 3 GLAZING DETAIL POLYPROPYLENE FRAME By| 4 BUILOING CODE COMPLANCEOFFIC] < _ 3
* PRODUCT CONTROL DI¥ISTON ACCEPTANCE WO 0Q ~0613-02 |
BYILDING CODE COMPLIANCE OFFICE et 6 o 7.




579"
N : 5=~
x ¢ Y @© D 0
o — - o o Qg l
2 b |3 5 o SRR
~ X " | 3 11} & | T LZo
N A 1 O O N I N
I . _L_ \_ -/ 175" Ej Sy
o) =l
T ASTRAGAL FLUSH BOLT o —{— 097" £ =2
M LOMPRESSION WEATHERSTRIP  ~ ~
MATERIAL: C/R ROD ZINC FOAM CELL CORE W/VINYL JACKET S/ .
" & YELLOW CHROMATE — - I
1.88 { o
1.625" ——— le—— 1.585" gxm
. 4.625" o 8?5 té’
© 2.203" —={ B f RS W
2 ~ ey =
n ”/’_/—’;]1 i \'\\ ‘ ém,.', S
N 7 \‘ﬂm i N g
i 2|B271° @
H =]
2 o|=E%E
OUTSWING BUMP FACE i al 3 |
ALUMINUM/WO0D THRESHOLD WOOD HINGE, LATCH & BLANK STYLE %55
TOP & BOTTOM RAIL .050" WALL TYP. EXTRUDED PVC "2
Z
oI9
11%)
2.412" é@
B ! 8 ' .. n
i 2.875 75— — f——1.714" ——— _:§ z
4.5625 5T 5 éﬁ 7
o0k |0 0 o
['9] x
i L [ 1] R x o
X [eile)]
. / Y 1 .} ol ¢ Q = \/ NN
o T : : E . RN
R » ';) [ e)] .
T i ATTACH TO SILL USING #10 x 2 1/2" N ~~[2
. F.H. SHEET METAL SCREWS PROVIDED ] 526,,|__
° WITH BOLT FACE BOLT (v o ' KUY/ sonome
ATTACH TO DOOR USING #10 x 1 1/4 CONSULTANTS, INC
F.H. SHEET METAL SCREWS PROVIDED e S OLYPROP B13.684.3831
HOOR. FRAME WITH BOLT.
i RRODUCT RENEWED| #rrrROVED &S COMPLYING WTHTHE [aTe: 9 /20 /00
——1 .683 ~—i OV = 1o oM. 03 SOUTH FLORIDA BULDING CODE seae:  N.T.S.
’ ) ACCEPTANCE No, O ™. | owte 09, 2000 [——— TUH
) - BULB WEATHERSTRIP EXPRATION AT Notysgey 2006] BY_\atan | Llandn —
' AT FIGID. TEKNOR APEX BBN-809C UZ\ ﬂ} | PRODUCT CONTROL OISION DRAWNG N
1 ) FLEX TEKNOR APEX 902—A Byl - BUILDING CODE COMPUANCE OFFICE S—2030

L 1.033" —

PRODUCT CONTROL DIVISION. |
BYILDING CODE COMPLIANCE OFFICE

ACCEPTANCE NO.OC~061\% _-QZ

SHEET 7 OF 7




